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Basic Concept

Time complexity 1s considered as

the total number of steps
operated. One command is one
step.

Space complexity is considered as
the total spaces
occupied. One number/character is

number of

one space.

Time Complexity

x =1 O(1)
for 1 in range (n) O (n)
for i 1nlr§nge(n): 0(n~2)
for J in range (n)
while 1 < n:
i4=1 0(n)
def f(x):
return f(x - 1) ©(n)
f(x) -> O(n)
for i in range (n): 0(n"2)
f(x)
str([l:] O (n)
tplll:] O (n)
list[1l:] O (n)
tpll + tpl2 O (n)
def f: A
return £ + f 0 (27n)
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Space Complexity

x =1 O(1)
str, tpl, list O (n)
str[l:] O (n)
tpl[l:] O (n)
list[1l:] O (n)
(Q),) 0(n"2)
def f£(x):

return f(x - 1) O (n)
def f:

return £ + £ O (n)

Tree

Time: No. of leaves
Space: Depth of tree

Time Complexity of List Operation

len(1st)
0O(1)

i in 1st
O(n), n = len(lst)

lst.append (X
O (1)

lst.extend (lstl)
O(n), n = len(lstl)

lst.insert (i, x)
O(n), n = len(lst)

lst.remove (x)
O(n), n = len(lst)

lst.pop(i)/del 1st[i]
O(n), n = len(lst)

1st.pop ()
0 (1)
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lst.clear ()
O(1)

lst.index (x)
O(n), n = len(lst)

lst.count (x)
O(n), n = len(lst)

lst.sort ()
O(nlogn), n = len(lst)

1st.copy ()
O(n), n = len(lst)

Time Complexity of Dic Operation

k in dic
O(1)

diclkey
0(1)

0 (1)

dic.keys () /values () /items ()
O(1)

dic.pop(kev)/del diclkev]
O(1)

dic.update (dicl)
O(n), n = len(dic[1])

dic.clear()
0 (1)

dic.copv()
O(n), n = len(dic)
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